Remember with contingency tables, if it is only a 2 by 2 table you have to use Yates correction – you must memorise the formula, it is NOT in the formula book:
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See eg 3.4 p 43
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										10% level, (ALWAYS 1-tail)
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Further example showing giving a conclusion ‘in context’
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Less individuals than expected were affected by robbery but more were victims of burglary and arson.
More businesses than expected were hit by robbery, less than expected were affected by burglary or arson.
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3 The USA collects information on many types of criminal offence.

(2) For crimes against property, the type of victim and the type of offence involved are
recorded. The details for a random sample of 526 such crimes which ocowrred during
2004 are summarised in Table 1.

Table 1
Type of victim
Individual Business
Type of offence™
Robbery 112 108
Burglary 146 9%
Arson 44 20

Test, at the 5% level of significance, whether the type of victim is independent of the
type of offence.

Interpret your conclusion in context. (10 marks)
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Ho: There is no association between type of offence and type of victim
H4: There is an association between type of offence and type of victim
5% level, ALWAYS 1-tailed

Type of victim
Individual Business

Type of offence

Robbery 112 126.31 108 93.69 | 220
Burglary 146 138.94 96 103.06 | 242
Arson 44 36.75 20 27.25 | 64

302 224 526

test statistic = 8.01
critical value = 5.991
Since 8.01 5.991 we reject Ho

There is significant evidence to suggest there is an association
between the type of offence committed and the type of victim.
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